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1. What is the relationship between the following two structures?

OH | OH |
@/H,JNH @.,\NH
Enantiomers Diastereomers

Rate = k[HO][1-chloro-1-methylcyclohexane]
Rate = k[chloride ion]

4:S in Avater H:S in DMSO NaSH in water NaSH in DMSO
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7. Which of the following reagents would best accomplish the following transf

/k/OH /ksr

HBr NaBr

it

11. Which of the moleculeshelow are énanitiomérs,/formed as pro
Br. H

=

obhNHB

r with 4-methylpent-1-ene?

v

M and X Hand IV

/D + enantiomer
HO\/\Q
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14. What is the expected major product for the following reaction?
1. BHg*THF
Q\/ 2. HzOz, NaOH
0]
—~(OH + enantiomer H)J\NY\

OH 0

15. What major product is expected from the following reaction?
O™
H,0

OH Br

/\H< 1. MCPBA
Y
2. HyO"
0
/ﬂ + enantiomer

+ enantibqer + enantiomer

18. What is, sected major product for the folls
1. BHa*THF

2. HzOz, MaOH

~OH + CO,
\ OH

enantiomer /><Y\OH + enantiomer

OH

elect the expected majororganic product.

e
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shown?

1) 9-BBN o
- “ray g
2) HyO., NaOH i

,

HC=C~CH,CH; HO -~
1) H:=O/H:50:, HgSO: cat. 2) He, Pt
1) HBr 2)H:, Pt
1) Hz, Lindlar catalyst 2) BH: - THE
1) HBr, peroxides 2) NaOH

22. Which one of the following dienophiles ig mos Ctiv
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26. Predict the product for the following reaction.

0
o
o]
. /“\ 1. NaOCH,
™~ o 2 H;0"

27. Predict the major product for the following reaction.
NH,

NN

28. Predict the reagent(s requirfcop te the followi

3.34 g/mL 0.0299 g/mL

trans-1,4-diiddocyglol
cis/l,2-tdibromocysloperitane
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fastest reacting).
Q/B:’

Pe,

1
2 1&2

H,, Lindlar's catalyst Na, NH,

34. Which of the following reagents or se
HCO:H

=]

60

alkylating agents crown ether agents

sule would be predicted to be the most acidic?
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1<3<2 1<2<3

basic, while atom is least basic.

2
\ CHy
Hal H

N 3
D)
oLl

1 (most basic), 4 (least basic)
1 (most basic), 3 (least basic)

43. Which of the following amings co
1. benzylamine 2. 1s0propy,
2&3

aBH, LiAlH, L1AI(OC(CH,),.H BH, -THF

45. What comgpound isproduged when N,N>dimethylpropanamide is treated with LiAIH,?
C ] 3CH2C » (CH3 2 C Phs HZCO 1 ’ CchHzN(CHg)g CHgCHzCHzNHg

e black (10%

V

plete the fgllowing reaction by filling in the nedesséry reagents. (5%)
Ly

O P\ ™

k)]

2. “Ryrovide the stracture of the major organic products which result from the reaction below. (5%)

CH4 ‘/‘

CHyCH,OH

AN




